TECHNOLOGY

Part Number RD1720
1997-01 Honda Prelude

4 cyl. 2.2L

1- Injen cold air intake pipe
1- Injen 2 3/4” (70mm) Filter
1- 2 3/4” Straight hose

2- Power-bands (.040)(.312)
1-12” 10mm vacuum hose
1- 12” 6mm vacuum hose
1- 5mm vacuum cap

1- m6 Vibra-mount

1- m6 flange nut

1- Fender washer

1- 1/4" Coupler

1- instruction

(#1013)
(#3043)

Congratulations! You have just purchased the best engineered,
dyno-proven cold air intake system available.

Please check the contents of this box immediately.
Report any defective or missing parts to the Authorized Injen
Technology dealer you purchased this product from.
Before installing any parts of this system, please read the instructions
thoroughly. If you have any questions regarding installation please
contact the dealer you purchased this product from.

(#4003)linstallation DOES require some mechanical skills. A qualified

(#3220)
(#3087)
(#8004)
(#6020)
(#6002)
(#6010)
(#8008)

Note: Replacement filters, charger
cleaner kits, hydro-shields and
accessories are sold on-line at:

“injenonline.com”

mechanic is always recommended.

*Do not attempt to install the intake system while the engine is hot.

The installation may require removal of radiator fluid line that may be

hot.

Injen Technology offers a limited lifetime warranty to the original

purchaser against defects in materials and workmanship. Warranty

claims must be handled through the dealer from which the item was
purchased.
Injen Technology 244 Pioneer Place Pomona, CA 91768 USA
Please check the contents of this box immediately.

Note: This intake system was Dyno-tested with an Injen filter and
Injen parts the use of any other filter or part will void the
warranty and CARB exemption number.

Parts and accessories are available on line at “Injenonline.com”

Note: The installation of this cold air intake does require mechanical skills. Removal of the front bumper requires
loosening and removing several plastic plugs and screws that may be difficult. In addition to removing the
bumper, you will also have to remove the air resonator box, battery and tray when beginning this installation.

0

Injen strongly recommends that this system be installed by a professional mechanic.

-

A T

Hydro-shield part number X-1033




8= 1.0 mm VACUUM
12 M-m (1.2 kgfm TAME
H.7 Inif) %

x\lg !.a'r

,.#"'nf Intake solenoid

Remove M6 bolt>>> 5
ol =i

“.I--|<<<<< valve removed

et "__I-I.:.

s Nl e N [ | |
b T ﬁr‘f'\:x.'é". | B
_l_'..'._\ B .-'" " -l 'x;_ i
—r—e, _:".-{u_:'.F o ':\.I.i:l_

Transmission Diagram
- <<<bracket f (A)

Refer to Diagram (A)- Remove the m6 bolt as shown above (A). Remove the
entire vacuum hose connected to the intake control solenoid valve connector (B).
The entire vacuum tank, solenoid valve and vacuum hose with check valve lead-
ing to the 5mm intake manifold port are now removed (C).

Figure 5 v : SerCrR el
Once the vacuum hose and check valve leading to the solenoid valve and vacu-
um tank have been removed, continue to plug-off the port. Use the 5mm vacu-
um cap to cap off intake manifold port. Refer to diagram (B)

<< lines >>
removed

Figure 6 ' ’(C)

Remove the PCV hard pipe from hose leading to the coolant intake port (A).
Remove the hose leading to the idle air control valve port (B) and the coolant

Press the 2 7/8” straight hose over the throttle body and use two power-bands,
tighten the band on the throttle body side (A). Press the 12” 6mm hose over the
intake port (A). Use the 6mm heater hose to close the loop between the two ports. idle air control port (B) and the coolant intake port (C), use the stock clamps.

Figure 8 .

e 9 = 3

p ‘ - (.__.
Screw the vibra-mount stud into the pre-tapped hole located right above the

Take the intake and place it in the engine compartment. 1- Insert filter end of the
resonator opening. intake into the resonator opening, 2- align intake bracket to the vibra-mount stud,
Page 2 of Part# RD1720

3- Press the top end into the throttle body hose and semi-tighten clamp.



Figure 10

Once the top end of the intake has been nserted into th throttle body hose and

the bracket has been aligned to the vibra-mount stud, continue to use the flange Press the other the end over the 1/2” (12mm) intake port (B).
nut and fender washer to secure the intake in place.

Figure 12

Press the filter neck over the end of the cold air intake. Once the intake has

butted up to the filter stop, continue to tighten the filter neck clamp. from all moving parts, continue to tighten all nuts, bolts and clamps.
Congratulations! You have just completed the installation of the cold air intake.

J =| . 1
_Figure, 13 Mot

| D — . -
Check the entire intake for best possible fit. Once the intake has been cleared

Note: Disconnect the battery terminals before starting this installation.

1. Remove the air intake box and air intake duct that leads to the throttle body. (See fig.1)

You will also need to remove the front bumper along with the air intake resonator and
all its contents as seen in diagram (A) and (B). The 5mm cap in the kit will be used to
plug-off the port on the top end of the intake manifold. (See fig. 5)

. Place the 2 3/4” straight hose over the throttle body and use two power-bands. Tighten

the band on the throttle body side for now. (See fig. 7)

. Screw the vibra-mount in place which is to the front of the resonator opening. (See fig. 8)
. Warning! The car must be completely cold before attempting to remove any lines.

Remove the PCV pipe and the two water bypass hose as seen in diagram (C). (See fig. 6)
Use the 6mm heater hose to connect idle air control valve and coolant intake port,
Reuse the stock clamps on the lines to prevent coolant hoses from slipping. (See fig. 7)

. Take the cold air intake and slip the bracket end into the resonator hole. (See fig. 9)

Align the intake bracket to the vibra-mount stud. Insert the top end into the
the 2 3/4” straight hose and semi-tighten band. Use the m6 flange nut and fender
washer on the vibra-mount stud this will help secure the intake in place. (See fig. 10)

. Take the 12”-10mm hose and press one end over the crankcase port and the other

end over the 1/2” the intake port. (See fig. 11)

. Attach the 2 3/4” Injen filter on the lower section of the intake located in the bumper

area. (See fig. 12)

. Align the entire cold air intake for best fit. There should be no rubbing anywhere

along the length of the intake. Once proper clearance has been made continue
to tighten all nuts, bolts and clamps. (See fig.

13)
9. Remove all tools and rags form the engine compartment. Reconnect the battery

Page 3 of Part# RD1720 terminals and re-install the front bumper to its stock location.

Take the 12”-10mm vacuum hose and press one end over the crankcase port (A).



Diagram (B) Diagram of vacuum line connections

To
EVAP CRUISE CONTROL
CONTROL ACTUATOR
CANISTER

use 3mm cap to plug off

EVAP CONTROL CANISTER

FILTER EGR
) VALVE
Air box cleaner LIFT
removed >>>> SENSOR
INTAKEO IAB CHECK VALVE
CONTROL
CHECK VALVE
INTAKE
CONTROL
SOLENOID
VALVE \ =
4 <>
FRONT OF
VEHICLE
S
FUEL RS=b
PRESSURE 3| 2
o s 3 REGULATOR
Entire line #8 is no IAB CONTROL
longer required. DIAPHRAGM
Remove and plug- S
IAB CONTR
off top port SOLENOID VALVE
EGR
i
SOLENOID
DIAPHRAGM VALVE

Diagram (C) Coolant line diagram

a
N
T Pcv vacuum pipe

IDLE AIR )
CONTROL <<<<< to be removed
(IAC) VALVE ge

FAST IDLE e ~

THERMO <<<<< water bypass

MALYE hose is removed

)
2, THERMOSTAT
HOUSING

Use the 1/4" coupler

to join the two lines.

Use the stock clamps
to secure the lines.

0-RING
Replace.

(@) 7{.
[
~ .\‘“
!b @ B
5 /5 m=
o-AING G)) 2

HEATER
HOSE
0)
CONNECTING PIPE Replace.
8x1.25 mm
22 N-m (2.2 kgf-m, I(E:l;gl'_l:i OlL
M/T with ATTS: 16 Ibf-ft)

Page 4 of Part# RD1720



